32 ' THE TARIM RIVER.

We get by numerical calculation

Q A /8 V.
according to method I . . . . . . 2604 78.15 m 2.605 M 0.3332 -
: 3
according to method II. . . . . . 26.24 __ 78.03 m? gt 1

Fig. 37. Left. 1o April 1900. & = 22.0 metres. 7z = II Tusun-tschapghan. Right.
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p - . o6 2.87 4.67 4.80 4.36 3.75 2.41 I.30 0.62 O.16 metres
vk . . 35.0c 52.0 45.25 4I.0 40.0 37.2 30.3 34.5 18.5 28 ; ET::;;
The results obtained are
0 A d,, Von
according to method I . PEEEEI 51 £ 52.60 m? 2.391 M 0.3709 i
according to method II. . . . . . 19.39 g 52.00 m?  2.364 M 0.3728 f::“
Fig. 38. Left. 10 April 1900. & = 22.6 metres. 7z = II Kum-tschapghan. Right.
' 1 .%
p - . 046 0.8 I1.16 I1.88 T1.48 O.86 1.63 I.99 I.96 I.37 metres
Ea'/.é . « 2.0 3.0 8.0 28.7 26.3 10.5 41.7 47.0 52.3 457 52::;;
Here the results are
0 A a, Vo
accnrding to rethod I+ o = « o 8.51 E 27.86 m? I.233 M 0O.3058 i
according to method II. . . . . . 8.s8 g 28.09 m? I.243 M 0.3055 EH::‘
Fig. 39. Left. 22 Sept. 1899. & = 35.3 metres. 7z = 6 Schakal-otak. Right.
I 1| : ! | _— A
I | I I
' ' | Z
F /T S T £ 4.98 4.77 3.09 I1.23 metres
I tr
Ef/zé « o . e 33@ '_,78.5 7I1.o0 53.5 4.5 7 s:::m‘:i
And the results work out thus
Q A a,, V.,
according to method I . . . . . . 68.3 5:-; 109.03 m? 3.089 M 0.6264 —
according to method II. . . . . . 66.16 2 104.66 M? 2.965 M 0.6321 —




